Série 1

Et encore guelgues inéquations a résoudre...

a) 2x+1=>0

b)) (x+1)3—-2x) <0

C) 4x>+12x +9 <0
dx?-1<0

e) 2x+3)(x+1) < (x—-5x+1)
fy x2<5

g) 9x3 — 4x <0

h)x(x—7)<0

i) —x2 <0

) x+8)=2(x—3)
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(4—3x)(—x2+2x—6)
m) 3X(x?—4x) <0

n) 28x — 4x2 > 49
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Série 2

a) —2x—1<0

b) (x—1)B3—-2x) <0

c) x2—16=>0

d)4x? +12x < -9
e)2x+3)x+1)=(x—-5((x+1)
H9x3—16x<0

g) x2 <16

h) x < —
i) —x2>0

) (x+8)=((2x+3)

7x—4
x+3

<1

k)

—y2 _
) (4 + 3x)(—x2+ 2x 6)>0
3x2—-12x

m) 28x —4x? < 49

2x%—6X+4

6—Xx—Xx>

>0

n)

Bon travail !



